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DEFENCE AND STRATEGIC STUDIES

Paper 11
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Time Allowed : 75 Minutes]
Note : This paper contains Fifty (50) multiple choice questions, each question

carrying Two

[Maximum Marks : 100

(2) marks. Attempt All questions.
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1. The origin of strategic studies can

be

(A)

(B)

(®))

(D)

traced to :

Edward Meade Earle’s seminar
on grand strategy and conduct

of war

Hans Morgentheau’s work on
‘Politics Among Nations : The

Struggle for Power and Peace’

E.H. Carr’s ‘Twenty Years
Crisis’ that presents a critique

of liberalism

Thucydides’ writings on the

Peloponnesian war
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The features of a nation are :

(1) A sense of oneness that is born
out of commoness of culture,

ethnicity etc.

(i1) People who identify socially,
culturally to establish a

separate identity for themselves

(zii) A distinct territory and a

sovereign government
The correct answer is :
(A) only (i) is correct
(B) only (i) and (ii) are correct
(C) only (i) and (iii) are correct
(D) all are correct

Olof Palme’s argument that states
can no longer seek security at each
others’ expense is understood as the

concept of :

(A) National security
(B) Human security
(C) Common security

(D) Collective security
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Balance of power as a security
strategy is based on the following

approach :
(A) Liberal
(B) Realist
(C) Behavioural
(D) Marxist

Who set out to make geopolitics a
legitimate area of academic

inquiry ?

(A) Mahan

(B) MacKinder
(C) Haushofer
(D) Machiavelli

Soviets generally used this phrase
to convey the meaning of

detente :

(A) Imperialism

(B) Peaceful coexistence
(C) Perestroika

(D) Massive retaliation
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Alfred Mahan’s central theme

was :
(A) strategy was the key to warfare

(B) that economic, social and
political change affects tactics

and strategy

(C) the study of United States’ rise

as a great power

(D) maritime predominance of

Great Britain

The first writer to incorporate
Napoleonic warfare into what
became an important work on

strategy was :
(A) Machiavelli
(B) Clausewitz
(C) Jomini

(D) Liddell Hart
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10.

11.

Indian ‘Cold Start’ doctrine is aimed

at :

(A) Corps mobilisation of troops
(B) Fast mobilization of troops
(C) Normal mobilization of troops
(D) No mobilization of troops

Wars that seek to capture political
power through armed struggle are

described as :

(A) Terrorism

(B) Insurgency

(C) Civil war

(D) Revolutionary war

As an arms control agreement

START seeks to :
(A) implement the INF agreement

(B) go further from SALT I and II

(C) remove the difficulties in

implementing the NPT

(D) Implement the Outerspace

Treaty
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12.

13.

The concept of strategic partnership
between India and Russia was

introduced by :
(A) Putin
(B) Yelstin
(C) Gorbachev
(D) Brezhnev

Globalisation seems to have
undermined democracy in two

ways :

(1) Concentrated economic power
and therefore political power in
the hands of multinational

corporations

(i1) Pace of economic globalisation
far outstrips the pace of political

globalisation
(2i1) Free flow of finance capital

(tv) The rich have become richer but
the poor have also become less

poor
The correct answer is :

(A) only (i) and (ii) are correct

(B) only (i) and (ii) are correct
(C) only (i) and (iiz) are correct

(D) only (iii) and (iv) are correct
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14.

15.

The US concept of Global War on

Terror seeks to target :

(1) new threats posed by non-state

actors and terrorist groups
(i) so called ‘rogue’ states

(ztz) militant theories of radicalised

Islam

The correct answer is :

(A) only (i) is correct

(B) only (i) and (ii) are correct

(C) only (i) and (ii) are correct

(D) All three are correct

Samuel Huntington’s “Clash of
Civilizations” argued that the
principal patterns of conflict and

cooperation in the world were shaped

by :

(A) Nationalism
(B) Culture

(C) Nation states

(D) Political leadership
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16.

17.

The MTCR aims are placing

restrictions on the export of :
(A) Civilian nuclear technology
(B) Missile systems

(C) Radar equipment

(D) Dual use technologies

Read the following statements about

CTBT :

(1) Nehru proposed the treaty in
1954

(z1)) UN General Assembly adopted
the text in 1996

(zii) The treaty covers nuclear

explosions in all environments

(zv) Underground explosions are not

covered by the CTBT
The correct answer is :
(A) Only (2), (i1) and (iii) are correct
(B) Only (i), (i) and (iv) are correct
(C) Only (i) and (iii) are correct

(D) all the four are correct
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18. The “Domino Theory” became the

19.

rationale for the :

(A) Vietnam war

(B) Korean war

(C) Arab-Israel war

(D) Suez Crisis

The disintegration of Soviet Union
can be understood in the context

of :

(A) Failure of socialism

(B) Ethnic nationalism based right

to self-determination

(C) Growing awareness about

Human Rights

(D) Success of US and NATO

strategies
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20.

21.

Kosovo was a province of the
following region of the former

Yugoslavia :

(A) Slovenia

(B) Bosnia-Herzegovina
(C) Serbia

(D) Montenegro

The key features of the Indian
nuclear doctrine include :

(1) No first use policy

Credible minimal nuclear

(i)
deterrence
(zit) Support for global nuclear

disarmament

The correct answer is :

(A) only (if) is correct

(B) only (i) and (ii) are correct

(C) only (i) and (iiz) are correct

(D) all three are correct
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22.

23.

24.

The Chechens are an ethnic
minority living in the region

of :

(A) Alps

(B) Kalahari

(C) Hainan

(D) North Caucasus

Brundtland Report is concerned

with :

(A) Peacekeeping

(B) International terrorism
(C) Sustainable development
(D) Free trade

Aksai Chin is a part of :
(A) Ladakh

(B) Tibet

(C) POK

(D) Sinkiang

22.

23.

24.

AUG-16211/11

T B Tk STqHRA difTeh e 3T Sl
E2IIRIGICERE R

(A) ATTH

(B) IR

(C) =rI

(D) W hlhzad

sicete RO & Hewid o) -

(A) FNaar @0

(B) ARSI TG
(C) feshrs foehm™

(D) HHK ATUR

FRAE I T A A
(A) o=@

(B) fase

(C) Ush =W HRHR

(D) faferTm

11

[P.T.O.



25.

26.

27.

Container security initiative relates

to :
(A) anti-piracy activity
(B) anti-terrorism activity
(C) anti-submarine activities
(D) humanitarian assistance

Which country exercises the

sovereign control over Suez

canal ?

(A) Israel

(B) Saudi-Arabia
(C) Great Britain
(D) Egypt

In which country of Central Asia
India claims to have an Air

Base ?

(A) Kazakhstan
(B) Kirgistan
(C) Uzbekistan

(D) Tajikistan

25.

26.

27.
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(A) The Six Degree Channel (A) a1 S @t
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29. The UN agency which looks after the | 29. i qaedine sEomt T Tog=
problem of refugees : TSl g e
(A) UNICEF (A) UNICEF
(B) WHO (B) WHO
(C) UNHCR (C) UNHCR
(D) UNESCO (D) UNESCO

30. Teeth and Tail Ratio in logistic | 30. ¥ W&l ASHA “Teeth and Tail
management means : Ratio” TN :
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men and material (B) ¥, §1 & Wt A= T
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(C) SOM & TRl IT=A1 ST
officers
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D) = & I T A
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THIIT
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31.

32.

33.

The UN General Assembly is an

example of :

(A) Quiet Diplomacy

(B) Public Diplomacy

(C) Parliamentary Diplomacy
(D) Coercive Diplomacy
Colonialism was a product of :

(A) Rivalry amongst European

states
(B) White man’s burden
(C) Search for raw materials

(D) Slave trade

‘Dharma Yuddha’ is an example

of :
(A) Total war
(B) Just war

(C) War against International

Anarchy

(D) Religious war
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34. Conflict resolution : 34. G9d fRET © & :
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37.

38.

39.

Confidence building exercises are

not promoted by the following :
(A) Information exchange

(B) Third party mediation

(C) Arms race

(D) Appointing observers on the

borders
Pugwash conference deals with :
(A) Agricultural revolution
(B) Refugee relief
(C) Sustainable development
(D) Nuclear free world

The concept of collective security is

based on this approach to

International relations :
(A) Realist

(B) Idealist

(C) Behavioural

(D) Systems

37.

38.

39.
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40.

(a)

)
(e)

()

41.

Match the following and choose the
correct answer from the codes given
below :
Morton Kaplan (1) International
Political Economy

Oskar Morgenstein (2) Realism

Immanuel (3) Games Theory
Wallerstein
E.H. Carr (4) Systems theory

(5) International society
Codes :

(A) (a)-(4), (B)-(1), (c)-(2), (d)-(3)
(B) (@)-(5), (b)-(1), (c)-(3), (d)-(2)
(C) (@)-(3), (b)-(1), (c)-(4), (d)-(2)
(D) (a)-(4), (b)-(3), (c)-(1), (d)-(2)
The period 1871-1916 saw the
development of new sources of power
and new materials that had an
impact on war. These development
include :

(1) Edison’s first commercial
generator

(i1) Internal combustion engine
(zi1) Steel alloys

(tv) The Morse code

The correct answer is :

(A) Only (i), (i1) are correct

(B) Only (2), (i) and (iii) are correct
(C) Only (i7), (iiz) and (iv) are correct

(D) All four are correct

40.
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42.

43.

Jean Baptiste Say introduced the
following idea in the context of

war :

(A) Human capital

(B) Defence as public good

(C) Deficit finance

(D) Financing wars through

taxation

The growth of C3I technologies

would have the following impact :

@)

The element of tactical surprise

will end

If both sides have the CSI

capabilities

(i1)
technological
surprise rather than tactical

surprise would be important

(zi1) Offensive power would become

important

(tv) Air power will play a dominant
role

The correct answer is :

(A) Only (i) and (if) are correct
(B) Only (iv) is correct

(C) Only (@), (i) and (iv) are correct

(D) All the four are correct
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44.

45.

46.

Following are the methods of
mobilisation of resources during

war :
(1) Taxation

(i1) Borrowing

(i171) Rationing

(fv) Aid

The correct answer is :

(A) Only (i) and (ii) are correct
(B) Only (i), (i) and (iv) are correct
(C) Only (2), (1) and (iii) are correct
(D) All the four are correct

“Garden Reach Workshop” deals
with :

(A) Ship building
(B) Tank production
(C) Missile production

(D) Aircraft production

New International Economic Order
was conceptualised in the following

decade :

(A) 1960s
(B) 1970s
(C) 1980s
(D) 1990s

44.

45.

46.
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47. Which is the most predominant

48.

49.

50.

energy source in India ?

(A) Oil

(B) Natural gas

(C) Nuclear

(D) Coal

Membership of NAFTA :

(A) Cuba, Mexico, United States
(B) Argentina, Brazil, United States
(C) Canada, Mexico, United States
(D) Chile, Mexico, United States

Determinant of defence expenditure
include :

@)

(1) Socio-cultural environment

Strategic environment

(i11) Arms race

(tv) Development of science and
technology

The correct answer is :

(A) Only (i) and (if) are correct

(B) Only (i), (i1) and (iii) are correct
(C) Only (), (iii) and (iv) are correct
(D) All the above four are correct

The command, control, communi-
cation and intelligence infrastruc-
ture helps :

(Z) Reconnaissance

(11) Surveillance

(zi1) Target acquisition

The correct answer is :

(A) Only (i) is correct

(B) Only (i) and (i) are correct

(C) Only (zi7) is correct
(D) All the above three are correct

47.

48.

49.

50.

AUG-16211/1IT
TRATdId Faid Hegcara Sofi  (AfHd

e Hiod ?

(A) T

(B) wgfifer g

(C) sfuaen

(D) hicsdl

NAFTA =¥ 9

(A) Rgel, iR, AR

(B) ersife, smeiiet, SRR
(C) =-iel, Ao, s
(D) facht, Bfoge!, @i
W Tt fuias ¥ew ® SmRd
(@) wmier affeerdt

(i) QTHTSIh- Tk iqe  qRfLerdt
(i) T T

(jv) IMA & TAAAEMET fah™E

TR I TR ¢

(A) ®des (1) F (i) TR 3ad

(B) &da (i), (ii) T (jii) TR 3T=ed
(C) &des (i), (iii) 9 (iv) SRR 3ed
(D) 90 Fd SR 3ARd

g, T, §g=A o 7@ ot are gerd
IERE RIS 0 s o i

@) vd v

(i) <3t

(111) I&ER AN

TR T 3R ¢

(A) Hdes (7)) TR TR

(B) ®des () I (ii) SR 3TRd
(C) HaSB (iii) TR 3T

(D) =Kie ®d e 3Ted
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